AGREGAT K-6
Qch=439 kW

B1

P2 ¢28,812.70 P11 #19.05,612.70

P12 #19.05,012.70

1 P17 #12.70,66.35

P13 919.05,612.70

B3 P16 #12.70,66.35

P14 $19.05,612.70

P6_¢12.70,86.35

BIg P35 ¢12.70,66.35

P36 #12.70,86.35

=2
P3 ¢28,812.70
=

P7 ¢12.70,86.35

P4 ¢28,012.70

PS ¢28,012.70

<1 P9 212700635

P20 ¢28,612.70

P2l ¢2222,12.70

B2 P22 ¢12.70,86.35

P24 ¢22.22,912.70

Pa4g
Qch=2,2 kW
. AGREGAT K-6] pge Och=2,2 kW
T P34g
Qch=49 kW PGE]|
.
P344 L_380-415-3-50 20-240,50.1
Gch=2,2 kW Pra——
Ich=c,i
PaE]
r343 20-240,50,1
Gch=2,2 kW P
Ich=¢,
PaE]
- 20-240,50,1
Qch=2.2 kW
Och=2,2 kW
PaE]
P34l 20-240,50,1
Gch=2,2 kW Py
Ich=¢,
d B I
PaE]
P340 20-240,50,1
Gch=2,2 kW Py
Ich=¢,
d B 3
PaE]
P339 20-240,50,1
Gch=2,2 kW ey
Ich=c,
PaE]
20-240,50,1
P32
Och=2,2 kW
’ Gch=2,2 kW
PaE]
pazz 20-240,50,1
Och=2,2 kW
’ Gch=2,2 kW
PaE]
paza 20-240,50,1
Och=2,2 kW
’ Gch=2,2 kW
PaE]
paze 20-240,50,1
Och=2,2 kW
. Gch=2,2 kW
PaE]
pazs 20-240,50,1
Och=2,2 kW
. Goh=2,2 kW
PaE]
pazs 20-240,50,1
Och=2,2 kW
. Gch=2,2 kW
PaE]
pazy 20-240,50,1
Och=2,2 kW
. Gch=2,2 kW
PaE]
paze 20-240,50,1
Bl4 gon=45 kv Och=4,5 kW
P30 912.70,0635 " X
P26 #19.5,0127 PaE] Faze
pazn 20-240,50,1
BIS, Gon=5,6 kv Och=5,6 kW
| P37 e1seeea52 " — Y
P27 919.05,212.70 PaE] Fas
paaz 20-240,50,1
ois Gch=2,8 kW P——
P31 12700635 a4 M 4
P2B #19.05,912.70 PGE] P332
paz3 20-240,50,1
Och=2,2 kW
’ Gch=2,2 kW
P33 91270,06.35 !.._m_V i
pazs 20-240,50,1
Gch=2,2 kW
Gch=2,2 kW
R
20-240,50,1
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